1. (a) Calculate the MM strategies for both players and their safety
levels and (b) find a Nash equilibrium for tlie bimatrix game
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2. Given that the inverse of the payoff matrix
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calculate the optimal strategies for both players and the value of
this matrix game.
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3. Calculate the matrix that is the strategic form of the game given
in extensive form below.
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4. The price function for companies #1 and #2 who produce quan-
tities g1 and g of a product is P(gy, ¢2) = 110—¢1 — g2. The produc-
tion costs to the companies are 20g; + 30 and 30gs + 9 respectively.
(a) Show that if company #1 produces ¢ units, then the optimal
production level for company #2 is ¢ = 40 — 4. (b} Calculate the
value of ¢ such that if company #2 produces gz = 40 — % units,
then its profit will be zero.
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